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3.0
6.8
9.6
6.6
0.9
5.7
2.7
9.0
10.4
12.4
12.8
16.0
15.0
5.5
4.4
13.2
5.3
7.7
14.0

11.2

sphR-p |cyIR-p |axisR-p |sphL-p |cylL-p |axisL-p [sphR-C| cyIR-C 'axisR-C sphL-C cylL-C  axisL.-CJVaR Val |SPHrRI cylrRM axisrRN SPHIRN CYLIRN AxisIRI| Strabism 2WsphR| 2WcyIR [ 2WaxisR{ 2WsphL | 2WcylL | 2WaxisL |bling1 | bling2
0.25| 0.75 72 0.5| 0.75 114 0| 0.25 90 0| 0.25 96 20 20| -4.5| 0.25 64 -4.5| 0.25| 124 5| -0.25 0.5 88 0 0.75 91| pass
2.25| 0.25 135 0 0.25 79 285 0 0.5 0.5 180 30 25| -3.25 0 0 0 5 LB 0.5 26| -0.25 1 72|pass
0.25 0 0 1 104 -0.5 0 -0.5 0.5 120 20 25| -1.25 0 -1.5| 0.25 132 5 0 0 -0.25 0.5 90| pass.
0| 0.25 145 -0.25 0 =il 0 -0.5| 0.25 92 80 32 -1 0.5] 150 -1 0.25 64 5 -0.5 0.5 125 -0.5 0.5 59| refer |refer
-0.25( 0.75 167 -0.25 185 178 0.5 1 180 0.5 L3 180fcsm |csm -0.5| 0.75| 155 -5 -1.75 1.75 164 -1.75 1.75 179 pass
15| 0.25 122] 1.25 0.5 57 0.5 0.5 175 0.5 0.5 180 20 20| -2.75| 0.25( 107 -2.75 0 5 0.5 0.25 70 0.5 0 pass
-0.25( 1.75 98 -0.25( 0.25 176 0.25 2 95 0.5 0 csm_ [csm -2.25( 2.5 92| -5.25 1| 167 5 =i 245 96| -0.25 0.5 42 |pass
1.25 1 92 0| 0.75 90 1| 0.75 90| 0.25| 0.25 90 20 20| -0.75]| 0.25 96| -6.25| 0.25 172 5 1 0.75 86 0.25 0.75 99| pass
inconclusive? -3.75 4 84| -4.25| 4.25 90 40 20 = 4 87| -3.75| 4.25 90 5 -4.75 575 86| -5.25 6.75 89| pass.
out of focus -1.75 2 98| -85 4 85 20 50 -2 2.25| 118 -8| 2.75 88 5 =L 2.25 111 -6.75 1.75 83 | pass.
out of focus = 4 88 2 3 85 40 25 -4| 4.25 94| -3.25| 2.5 82 5 -4.5 6.25 98| -3.25 5 89| pass
pupils not found -10.5 i3 91 -9 0.5 87| 100 40| -11.3| 1.5] 103|] -10{ 1.5 80 5 | pupils not found timed ¢ timed ot
out of focus -3.25| 1.25 74| -4.75 i3 86 20 20| -3.5| 1.25 69 -5.5| 1.25 95 10| -4.75 2 72 -6 1.75 96| pass
-0.25( 1.25 89 1| 2.25 90( -0.75| 0.75 90( -0.75 i 90 25 32| -7.25[ 1.25 86( -1.25| 0.75 84 5 =il 3 92 0 1,75 89|refer |refer
1.25| 1.25 92 2 2.25 90 1 1 85 1.25 1.5 95 25 25| -1.25( 0.5 79 =l 1Ay 93 5 0 5 90 0.25 2.25 82| pass.
no read -8.75 2 138| -7.75 0.5 79| -8.75 0.5 102 63 50| -9.75 1.5| 106] -11.3| 1.25( 103 10( -8.75 2 138 -8.5 0.5 26|timed qtimed ot
0.25| 0.75 126 1.25 1 89 0 1 90 0.25 1 90 25 20| -0.75 0.25] 102| -0.5( 0.25 83 5 -0.75 %25 124 0 1 97 | pass.
pupils not found -1.75| 1.25 93| -15 3.5 85 32 50| -2.25 2 88| -3.25 4 76 5| pupils not found pass
-3.25( 2.75 105 -4 2i5] 79 -4 4 97 -5| 5.75 80 50 25 -4 3.75| 107| -4.5 4 66 of -3.25 2.75 104 -3.75 25 72|refer |refer
0.5 0.25 176| 0.75| 0.25 58 0.5| 0.75 90 0.5 0.5 90 25 30| -0.75 0 -0.25 0 5 0 0.25 79 0 0.5 78 |refer |pass
-0.25 0 0 0.25 7 0.5 0 0.5 0 25 25| -1.25 0 = 0 10{ -0.25 0.5 177 -0.25 0.5 11|pass
0.25 i 92 0.25( 1.75 93 0.5 1 90 0.5 0 25 20| -1.75| 1.75 93 -1.75] 0.75 87 5 -0.5 2 90 -0.5 1.75 84 |pass
0.75 1 101 0.5 1 88 15| 0.25 95| 1.25 0.5 85 20 25 -1.25| 0.5 98| 0.25| 0.5 97 -25 0 1 96 -0.5 1.75 73 [refer |[refer
pupils not found a5 178 88 3| 175 96 30 50| -0.75[ 1.25 79] 0.25 225 94 5 0.75 225 82 25 2.5 99 |timed qtimed ot
pupils not found 0.5 4 90| 0.25 3 90 30 30| -5.25| 3.25 79| -3.25 3.5 89 0/ pupils not found timed out
1.5| 1.25 97| 0.75( 0.75 63 285 i 90| 1.75 0.5 90 40 30 =il 1 94 0f 0.5 64 5 175 i 76 1.25 1 58|refer |refer
—1| 0.25 16 -0.5| 0.25 51| -15 1 15 -1l 0.75 163 30 30| -1.75| 0.25 15 -2| 0.75 7 5[ -0.75 0 -0.5 0 pass
pupils not found -0.5| 1.25 85 -0.5 1 90 20 25| -0.5 1 82 -1] 1.25 67 -5 -0.75 2.25 90 pass
0.5 0 2( 0.75 150 0.5 0 %5 0.5 90fcsm |csm 0 1 94 2.5 0.5| 140 5 -0.75 0.5 73 1 0.25 134 pass
3 15 85 -3| 2.25 90 -2| 1.25 90| -2.5 15 99 40 40| -4.25( 1.25 69 4| 2.5 95 5 =& 1.75 87 E35] 3.25 90| pass
0| 0.75 125 1.25( 0.25 105 -0.75| 0.25 92 1.5 0.25 105 25 25| -0.5 0 -1.5| 0.25 86 5 -0.25 0.5 90 0.75 0.5 76| pass.
0 2 115 0| 2.75 87| -1.25 1 109]| -1.25| 1.25 68 40 30| -4.25 15| 127 -2| 0.25 98 5 il 1.5 123 il 2.25 76| pass
-0.5| 0.75 87 -0.5| 0.75 97 -1 1.25 88 -1l 1.75 96 30 30| -2.25( 0.5 92 -3.5| 0.75 98 5 =75 1.25 90 =il 175 96| pass.
15| 175 94 1.25( 1.25 84 2.25| 1.25 100 1.75( 1.25 86 30 30| 1.25 1 90( 0.75 fish) 83 5 1 0.75 85 0.75 1.25 74 |pass
-1.25| 3.25 98 2 3 90| -1.25 2 89| -0.5| 175 94 50 50 -2| 3.25 98 2 25 89 5 2 BN/ 95| -1.75 4 88| pass
-0.5| 0.75 101 -1.75 2 93| -1.25 L3 75| -2.75 2 106 30 50| -1.75[ 1.25 79] -3.25| 3.25( 101 5 -1.25 i3 81| -3.25 4.25 94| pass
2] 0 -1.75| 0.25 96 il 0 -0.75 0 200 50| -15 0 -1.25| 0.25| 143 5| -1.25 0.25 3 S5 0.75 72| pass
0.5| 3.25 75(7 8 4 81 4 235] 92 40 50| 0.25( 4.25 82 2.25 285 96 of -1.25 4.25 76 -0.5 25 96 |refer |pass
-0.5| 3.25 74| -0.25 225] 96 -1| 5.75 85( -1.25 55 94| 100 50| -1.75 5 81 -0.5| 45 95 -5 -1.75 85 78| -1.25 3 91|pass.
-2 5] 99 -3| 4.75 78| -3.25 4.5 99( -3.75| 4.75 79 60 50| -3.5| 4.5] 102| -3.75( 4.25 81 5 -4.5 6.25 104 -5.25 6.75 82| pass.
=il 0.5 7| 3.75| 0.75 14] -0.5| 0.25 3 3| 0.75 177 30 50| -0.75 0 2.5| 0.75 2 5 -0.75 0.25 1 3 0.5 31|refer |refer
-4.5 B5] 96 B 4 82| -2.25 2 95| -2.25| 1.25 70 80 50| -5.75| 1.75 97| -4.75| 1.5 74 5 £ 4.25 96| -5.75 4.75 75| pass
3.5| 0.25 176 0.25( 0.25 161 3.75| 0.25 21 1 0 25 20| 2.75 0 s 0.5| 160 -5 2.25 0 0.25 0.5 140|refer |pass
5 0 -0.5| 0.25 165 4 0 0 0 25 20 0.75| 0.5 156 -2| 0.25| 179 -5 2.75 0.25 170 -1 0 refer
-4.75( 0.75 88| -3.75( 0.75 87 -4 0.25 15 -3| 0.25 80 20 20 ) 1 35| -4.5 0.5 63 10( -3.75 0.5 102 -3.25 1 75| pass.
0.5| 0.25 8 0.5| 0.25 11] 0.75 0 1 0 25 25 0 0 -0.75| 0.25 11 5 -0.25 0.75 13 0 0.5 18| pass
-0.25| 0.25 79 0.5| 0.25 82 0 0.5 180 0 0.5 180 20 20| -2.5| 0.25 32 -2.5| 0.25 51 5 0 1 79 0.5 0.5 66|pass _|pass
A5 1 110 0 2.25 79 3 0 275 0.5 90 25 40| 1.75 0.5] 100 d] 175 73 -25 2.75 0.75 103 refer
pupils not found 185 225 95| 1.25 225 85 32 50| -15 3 92| -0.25| 2.75 86 5 ROI5] 3.75 100 0.5 B85 82 [refer |[refer
0.5| 0.5 101 0.25( 0.75 82 0 0 0 0 20 20 -2 0.25| 116 -1] 0.25 81 5 -0.5 0.25 112 -0.5 0.5 85| pass.
—1.25| 0.25 8 Els5) 0.5 175 -1.25 0.5 7| -1.25| 0.25 3 32 25| -2.25| 0.5 18] -3.25| 0.75( 172 5[ -1.25 0.5 13 -1 0 pass
pupils not found -10.5| 6.25 79| -8.75| 5.25 85 40 25| -9.5| 5.25 90( -8.75| 4.75| 102 10 =7 3.25 84 -7 3.25 99 |refer |refer
-0.25 0.5 174 -0.5| 0.75 12| -0.5 0.5 180 5 0.5 180[csm |csm | -0.75 0 5 -0.25 0.5 12| -0.25 0.5 163 [ pass
0.25| 1.75 12 -0.25 L3 176 4.5 0 4.5 0 32 32| 0.75| 0.5 27(-0.25| 15| 176 -10 2.25 0.75 28 2.25 0.25 25| pass
5 245, 0 3.5| 0.25 2| 1.25 0.5 125 40 25| 4.75[ 0.25 37 2 0 15 235 0.25 127 245 0 timed ¢ timed ot
0.75| 2.25 112| 0.25 1 79 0.5 2.5 120 0.5 0 63 32| -1.5| 2.25| 112(-1.75| 0.5 93 5 0 2.25 108| -0.25 1.5 74 |refer |pass
-0.25( 0.75 91| -0.25( 0.75 85 0.25 0 0 OI5] 85 25 20| -0.5 0 s 0 35 =il 0.75 93 =il 0.75 77 |refer |refer
0.75 225 96 1] 2.25 101 0f 2.25 88 0f 1.75 90 50 50| -2.75| 2.5 89( -4.25| 1.75 90 5 0 225 87 0 2 89| pass.
0.75| 0.25 40 2| 0.75 16 3.5| 025 103 5.5 0.25 93 20 25| 2.75 0 4 0 -20 0.5 0.5 33 1.25 0.75 18|timed ¢ refer
1| 1.75 96 0.5 2 106 0 1 95 0 1 95 25 30| -0.75| 0.75 87 = 1| 101 5 -0.5 i3 91| -0.75 2 97 | pass.
-0.25| 2.25 89| -0.25| 2.25 78 il i3 77 -0.5 225 83 25 30| -0.5| 0.75 79 1| IEI%75) 79 5 155 2.25 89| -1.25 2 84| pass
-2 i 87 S5 i 90( -1.75| 0.75 85( -1.75| 0.75 97 40 50 -1f 0.5 83 -1.5 0.5 88 5 -1.75 i 86| -1.25 1 90| pass.
-1.5] 0.75 32 0 0 -1.5| 0.75 13| -0.75 0.5 158 40 25| -1.25 0 -2.25| 0.25| 101 5 Akl 0.75 32| -0.75 0.75 59|refer |pass
-0.25 0.5 84 25/5] .3 92 5 0 3.75| 1.25 89 20 20| 0.75 0 2.75( 1.25| 101 of -0.25 0.75 81 2 1.75 88|refer |refer
3| 0.25 79 0.75( 0.25 178 1.75| 0.25 16| -0.75| 0.25 97 50 32 -1 0.75 28| 0.5| 0.25 6 -5 /5] 0 0.5 0.25 89|refer |pass
o[ 025 96| 2.75| 0.25 146| -0.75 0.5 18 15| 0.25 97 20 50| 0.25 0 2.5 0 -5 0.25 0 2.25 0.25 169 |refer
0.25 1 104 0.75( 0.75 103 3.5| 0.25 90( 3.25| 0.25 90fcsm |csm -4.5 1| 113(-2.25| 0.25| 122 0 i 0.5 92 %25 0.25 91|refer |pass
=151 1.25 160 -2.5| 2.25 9 =2 1.5 175 -1.75 1.5 S|lcsm [csm | -3.75| 2.75| 160 -2.5| 2.25 12 0 =3 2.75 160 -3.5 2.5 9|pass
0.25| 1.75 93 1| 2.25 89 1.75| 2.25 88 3| 2.25 87 20 30| 2.25 15 90( 2.25 3 90 -5 0.75 1.75 92| -0.25 25 87 |refer |pass
-0.25( 0.25 74| -0.25 0.25 96 -1f 0.25 19 -1 0 16 16| 0.25 0 0 0 5 -0.5 0.5 95| -0.75 0.5 61|refer |refer
0 1 100| 0.25 1 83 1 i3 95 1 i3 85 50 25[-1.25| 1.5 101f-0.75| 1.25 93 0 -0.5 1.75 98 -0.5 1.75 79(refer |pass
0 1 85 0 0.75 93( -0.25| 0.25 90( -0.25 0.5 108 25 20| -0.75) 0.5 82 -0.5| 0.25| 132 5 -0.5 %25 92| -0.25 0.5 111|refer |pass
1 185 77| -3.75| 0.25 166 0.5 1 75 &3 0.5 120 200 50| 0.25 1 82| -3.25| 0.25( 166 5 0 2 76 -4.5 1.25 178|pass _|refer
0.5| 0.25 97| 0.75( 0.25 44| 0.25 0 0.5 0 40 25 -8 0 -5.75| 0.25| 179 -5 -0.25 0 -0.25 0.25 44 |pass
1| 0.75 867 0 2 0 4.75 2 105 25 50| 0.25| 0.25 62 225 fiSh) 97 -5 0.75 0.75 63 2 0.75 108 |refer |pass
2| 0.75 91| 0.25( 0.25 89 4 0 5 0 40 20| 2.75| 0.5 67| 0.75 0 -5 15 0.75 86 0.25 0.25 59 |refer |refer
0| 175 82 -0.25 2 85( -1.75| 2.25 90( -1.75| 2.25 85 50 50| -2.5 2.75 83 -3| 2.75 89 5 -0.5 2.75 83 =il BN5) 85 |refer |pass
3 15 90 5225 1 91 -3] 0.75 86| -2.75| 0.75 96 25 20 = 1 82| -2.75| 0.75 96 5| -3.75 2.25 94| -3.25 1.75 93 | pass
-0.75( 1.75 97| -1.25 2.5 77| -1.25 1.5 90| -1.25 1.5 90 40 40 -2 2.25 92 -2.5| 4.25 80 -2.25 3.75 104 25 4.25 80| pass.
0.5 275 111 1.25| 1.75 76 1| 0.75 90 1| 0.75 90 20 25 =3 1 95| -0.25 0.5 66 -0.25 1.5 102 0.25 1.5 72|refer |pass
-7 -7 -8 1.75 88| -7.25| 1.25 100 50 32| -7.75 1.5| 103) -7.25 i 62 5 i 83 455 0.75 70|Pass
0.5] 1.25 83 -0.25 1 89 2.5| 175 87 1.75 1 94 50 40| 1.25 1 90( 1.75 1| 100 1.25 2 83 0.75 2.25 88 | Refer
-2.25 0.5 86 -2.25 0 82| -2.75 1 84| -2.75| 0.75 94 20 20 -2 -2 0 41 L5 0.75 90| -2.25 0.5 81|Refer |Timed C
= 3 83| -2.75[ 2.25 92 -3.5| 3.25 77| -3.75 2 92 60 50| -3.5| 2.5 82 -3.5| 2.25 92 0 =5 BY5) 82| -3.25 Bl 89| pass.
pupils not found -1.25| 0.75 79 -2.5| 3.25 92 20 50| -4.25| 0.75 69| -4.5 5.5 88 0 -1.5 0.75 77 -4 5.5 87| pass
no readl 5.75 1.5 75 6.5| 1.25 99 25 25 5 1 69| 4.75 1 93 -25 | pupils not found timed ¢ timed ot
inconclusive 55 5 75| -5.25 4 103 60 50| -4.75| 4.25 79] -5.25| 4.5 107 5 76.25| 6 78 -7 6.75 106 [ pass
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